Clicker Quiz 1
What is the average velocity between

points A and D on the graph shown?
= Ax  Om-30m m
Vo E by
L. At 30s-0s S

A 1m/s
VB. -1 m/s
c. 2m/s
p. -2 m/s
e 3 m/s

Runner A is running with a constant velocity of 6.0 mi/h due east.
Runner B is running with a constant velocity of 5.0 mi/h due west.

Clicker Quiz 3-2

What are the velocities of runner A and runner B
respectively, if vectors point right are positive and
vectors pointing left are negative?

A. +6 mph and +5 mph N
B. -6 mph and +5 mph
V C. 6 mph and -5 mph
D. -6 mph and -5 mph E

E. Not enough information

Runner A is initially 4.0 mi west of a flagpole and is running with a
constant velocity of 6.0 mi/h due east. Runner B is initially 3.0 mi
east of the flagpole and is running with a constant velocity of 5.0
mi/h due west. How far are the runners from the flagpole when

they meet? . .
Clicker Quiz 3-3

If both runners start at the same time and meet at point
x and runner A takes time t, to reach point x and runner
B takes time tg to reach the same point X, then:

1ty >t,
b/z. ty =ty
3.t <ty

4.t,=1s

5. Not enough information

Clicker question

Match the velocity graph with acceleration graphs at
the bottom that best describe the motion

o Velocity vs Time - 1
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Runner A is initially 4.0 mi west of a flagpole and is running with a
constant velocity of 6.0 mi/h due east. Runner B is initially 3.0 mi
east of the flagpole and is running with a constant velocity of 5.0
mi/h due west. How far are the runners from the flagpole when

they meet? . .
Clicker Quiz 3-4

If both runners start at the same time and meet at point
X, then runner A travels a distance d, and runner B
travels a distance dg.

1. dy>dg
2.dy,=dg
3.dy<dg
4.dy=1m

5. Not enough information

Clicker question

Match the acceleration graph with velocity graphs at
the bottom that best describe the motion

a Acceleration vs Time - 1
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